MATH 365 Student name: I/(C‘/X__

Exam 2

Spring 2022

This exam is closed book and closed
are allowed. Drawing picture
question completely using ex:
the steps in your work, as we

notes. No electronic devices, including calculators and headphones,
s to help understand and solve the questions is encouraged. Answer cnc/.l
1ct values. Show your work neatly, including correct notation and slzowll.llf,l’
Il as writing legibly; answers without work and/or justifications w1

not receive credit. Circle your final answer for each problem. Each problem is worth 10 points. The
lowest score will be dropped.

DO NOT BEGIN THIS EXAM UNTIL INSTRUCTED TO START
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1. Let f = u + iv be . 7 : i
‘ be an analytic function such that u = x4 e* cosy and f(0) = 1. Find v.
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2, Fi ' , _ . -
nd the power series expansion of f(z) = e*(1 —z) atz = 1.
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e sin z
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b. Find the Laurent series expansion (at least 3 nonzero terms) of =
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